Probationary Officer Question Paper

REASONING

1.

How many such palrs of letters
are there in the werd AEROBICS,

- each of which has as many let-

ters between them in the word
{in both forward and backward
directions) as they have between
them in the English alphabetical

- series ?
(1) None (2) One
(3) Two (4} Three
(5) More than three

. Which of the following groups of

numbers should replace the

blank spaces so that the group’

of numbers, given in bald, follow

a logical pattern from the preced- °

ing and the following group of
numbers ?

81 87_
(1) 9.2.3. 4
39 24,3
"4 923

_53 2
(2)2,9.4,3
(403,924

_4

‘Which of the following would fall

in the same category of disasters
as Earthquakes, Cyclones and
Volcanic Eruptions ?

(1) Global warming

(2) Floods - (3} Oil spill

(4) Accidents

(5) Nuclear explosions

What will come In place of ques-
tion {7) mark in the followlng se-
ries ?

XWA VTC SPF OKJ ?
(1) JDN {2) JEO

{3) LPN ' (4)JDP

{31 L EO

If it is possible to make only one
meaningful word with the first,
third, fourth and the seventh let-
ters of the word 'EXHAUSTION',

~ which would be the third letter

of the word from the right ? If
more than one such word can be
formed. give 'P’ as the answer. If
no such word ¢an be formed,
give 'Y as your.answer.

(LP’ f2)A

(3YH 4T

5 Q '

B Which of the followmg figures
represenis the relation between
'‘Buildings’, ‘Men® and ‘Tall’ ?

(1}

2)

3

@

5]

Directions (7-9} : Study the fol-
lowing information carefully and answer
the given queshons

In a seven storey building, hav-
ing floors numbered one to seven, P,
Q. R. S, T and V each live on a differ-
ent floor. {The ground flgor is nurnbered
floor no. 1, the floor above it floor no. 2

@ ‘ @@@

and so on.) One of the floors in the-

building is vacant. P lives on the fifth
floor. No floor betow fifth floor is va-

-ecant: also no odd numbered floor is

vacant. Only S lives between T and V.

T does not live on an odd numbered

floor. T does not live on a fleor immedi-
ately above or immediately below R's
floar. § does not live on the hottom-
most floor.
. Who lives on the topmast floar ?
me 2} 5
B3I R av
(5} No one as it is vacant.
8. On which of the following floors
does R lve ?

(1} Seventh  (2) Sixth
£3) Third {4) Second
(5) First '
9. Which of the following floors is
vacant 7
{1} Seventh  (2) Sixth

{3) Third
{5) Fourth
If in a certain code 'good speech
by finance minister’ is written as
'by Bfinance 4 good 3 minister 2
speech 1'. How will ‘excited about
holiday in Europe’ be wntten in
that code ? ,
(1} about 1 excited 2 Europe 3 -
holiday 4 in 5
{2} in 5 holiday 4 Europe 3 excit-
ed 2 about 1
{3} about 5 Europe 4 excited 3
holiday 2 in 1 .
{4} Europe 5 excited -4 about 3 .
in 2 holiday I '
{3} Eurcpe 1 excited 2 about 3
in 4 holiday 5
Directions {11-13) : The follow-
ing questions are based upon the al-
phabetical series given below:
ACEFHIKLMOPRSTVWYZ
11, What will come in place of ques-
tion {?) mark in the follomng se-

{4) Sccond

10.

ries 7
AIKLMOPRZ CKLMOPY ELMOW ?
it) FLMOV (2) HMT
(3) FLV 4 F‘MV
‘(B) HOV
- 12, Ifin a certain code ‘CF is coded

as ‘IL, "El' is coded as ‘MR and
‘HM' 1s coded as 'SY". how will
CAD' be coded in the same code

language ?
(D PW {2) KR
(3) OV 4) PV
5 oW :
13. If ‘HEI' is related to 'TRS' and -

‘EHF" is related to “WTV' in a-cer-
tain way. to which of the follow-
“ing is ‘ILK' related to, following
the same pattern ?

{1} LOM (2) SPR
(3) VWT (4) ROP
(3] TRS

Directions (14-18) : Study the
following information carefully and an-
swer the given gquestions.

In a sports event, different games
are scheduled to be held on seven days,
starting on Monday and ending on Sun-

-day. Two games are scheduled to be
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held on Saturday as well as on Sunday
and one game on each of the remain-
ing five days. The games to be held in
these seven days are : Basketball, fool-
- ball, boxing, sprinting, swimming,
shooling, welghtlifting, wrestling and
cycling, but not necessarily in the same
order, )
Shooting is scheduled to be held
on Thursday. Boxing and cycling are
scheduled te ba held on the same day.
Wrestling is schedhled tabe held three
days before basketball, 1.e. two sports
are scheduled between wrestling and
basketball. Wrestling is not scheduled
1o be held on Wednesday. Weightlift-
ing is scheduled immediately after the
day boxing is scheduied. Football is
scheduled immediately after the day
wrestling is scheduled. Swimming is
not scheduled on Monday. _
14. Which of the following games is

scheduled to be held on Friday ?

{1} Basketball {2} Wrestling
{3) Swimming {4) Weightlifting
{5) Sprinting :

Which of the following games is
scheduled io be held on Sunday?
{1} Foothall {2) Wrestling
. {3} Basketball {4) Cycling

{5} Swimming :

15.

18.
sprinting scheduled ?

(1) Satwrday (2} Friday

(3] Wednesday (4} Monday

(5] Cannot be determined .

On which of the following days is

weightlilting scheduled ? '

(1] Monday (2) Tuesday

(3) Wednesday {4} Friday

(5} Sunday '

Shooting is related to Basketball
An the same way as Wresthng is
‘related to -

03 Spnntmg

(3) Sheoting

(5) Baxing | _
. Directions {19-28} : In each
group of questions, below are four staie-
ments followed by two conclusions
numbered I and II. You have to take

17.

18.

(2} Foothall

the four given statements to be true

even if they seem {o be at variance from
commonly known {acts and then de-
cide which of the gdiven conclusions
 logically follows from the four state-
ments disregarding commonly known
facts. e
. Give answer (1) if only conclu-
sion 1 follows.
Give answer {2) 1f only conclu-
sion 11 follows.

On which of the following days is |

(4} Weightlifting

Give answer {3) if either contlu-
sion { or conclusion I follows,

Give answer (4) if neither con-
‘clusion I nor conchuston 1T follows.

Glve answer {8) il both conclu-

sion I and conclusion I {ollow.
(19 -21) :
Statemnents:
Some paints are brushes.
Al brushes are varnishes.
All colours are varnishes.
Ng varnish is a canvas,
Conclusions:
[. No canvas is a brush.
1. Some paints are varnishes.
Conclusions : '
.- No paint is canvas.
1. No colour is canvas.
Conclusions : :
I. All varnishes are colours.
II. Some brushes are canvases.
{22-23}: '
Statements
All rivers are winds.
Alt clouds are rivers,
All oceans are rivers.
All'winds are breeze
22. Conclusgions !
_I. Some oceans are not breeze
iI. No cloud is an ocean.
23. Conclusions :
1. All rivers are breeze.
iI. Some winds are not clonds.
(24-26]
Statements )
All staplers are printers.
Some printers are machines,
All computers are machines. -
All machines are cquipments.
. Conclusions :
I, Some equipments are sta-
. plers.
II. Nomachineisa stapler.
25. Conclusions :
1. Some staplers are machines.
II. All those printers which are-
machines are also equip-
_ ments. '
26, Conclusions: . -
1. All computers are equipments.
II. No computer is a printer.
(27-28):
Statements :
Some rivers are mountains.
All mouniains are plateaus.
No plateau is a sea.
Some seas are rivers.
27. Conclusions;
1. Nomountain is a sea.
1. Some seas are mountains.

18.

21.

28; Canclnsions
-Some rivers which are pla—
teaus are not seas.
- I, Some plateaus are not rivers.
Directions (29-33) : Study the

| following information carefully and an- -

swer the given questions !
A B C D E F GandH are
sitting around a square tahie in such a

| way that four of them sit at four cor-

ners of the square while four sit in the
middie of each of the four sides. The
anes who sit at the four cormners face
the centre while those who sit in the
middie of the sides face outside, :

Two fernales sit in the middle of - |
the sides and two at the corners. A
sits second to the left of G. G sits in
the middle of one of the sides. C sits
fourth to the right of his wife and his. |
wife is not an immediate neighbour of
A or G. B sits third to right of her hus-
band. B does not sit at any of the cor-
ners. Only D sits between B and H. H
ix the husband of A. E Is a male.

28. Wheih of the following i$ true
with respect to the given seating
arrangemernt ?

{1) No two males are immediate
neighbours of each other
{2 G and H de not face each oth-
er in the seating arrangement
" {3} Eand D are immediate neigh-
" bours of each other
{4} Fls a'male and sits diagonal-
ly opposite to E .
() A sits in the centre of one of
the sides of the square table
Who amongst the following is B's
hushand ?
{1} C - @G
(31 E (4 F
{5} Cannot be determined
How many people sil between B
and € when counted in anti-cjock-
wise direction from B ?

3al.

{1} None (2) One
(3} Two (4) Three
- (8) Four '
32. Who amongsl the followmg isthe

wife of C ?

(11 D 2F
(3B 4G

. () Cannot be determined -

.What is the positiocn of E with
respect (0 C.7?
(1) Immediately io the left
(2) Second-to the left
(3) Third to the right
(4) Immediately to the right
(5] Second'to the right




Directions (34-38) : Study the
following information carefully and an-
swer the questions which follow :

A word and number rearrange-
ment machine when given an input line

of words and numbers rearranges -

them following a particuilar rule. Fol-
lowlng is an illustration of input and
the rearrangement,

Input : flight 37 delay an 53 87 hour
.. 19by46 .

Stepl : 87 flight 37 delay 53 hour 19,
by 46 an '

Step Il : 87 53 flight 37 delay hOur 19.

- 46 by an

Step TH 87 53 46 flight 37 ‘hour 19

. delay by an

Step IV: 87 53 48 37 hour 19 flight
delay by an

StepV : 87 53 46 37 19 hour flight
delay by an

Step V is the last step of the ar-
rangement of the above input as
the intended rearrangement is
abtained.

As per the rules [pliowed in the

above steps, answer the follow-

ing questions based upon the in-
put :
24 cross 82 road 93 safe 13 jam
halt 46 .
Which of the following would be
the second step after the rear-
rangernent ?
{1) 93 82 46 24 13 safe road jam
_ halt cross
{2) 93 82 46 24 road safe 13 jam
hall cross _
i3) 93 82 24 road safe 13 jam 46
halt cross -
(4} 93 24 82 road safe 13 jam
- halt 46 cross
(8) None of these
35. Which of the following would be
the final arrangement ?
(1] 93824624 13 safe road jam
halt cross
(2) 93 8246 13 24 safe road jam
" halt ¢ross
(3} 13 24 46 82 93 safe roadjam
" halt cross .
-(4) 93 82 46 24 13 cross halt jam
road safe '

{5) safe road jam hali cross 93

8246124 13

VI of the above Input ?

(1) 93 24 82 road safe 13 jam
hailt 46 cross ,

2] 9386224 road safe lSjam 46
halt cross-

Which of the following will be step

(3) 93 82 46 24 road safe 13 jam’

halt cross

(4) 93 82 46 24 13 safe road jam
halt cross :

{51 There will be no such slep as
it gets arranged before step

In step 111, which of the following
would be the third word /number
from the teft ¢
1382
{3} Jam
i3] Road
38. Which step would be the follow-
. ing output ? '
‘93 24 82 road safe 13 jam halt
" 46 cross.
(11
(3) I
(B VI
Directions (39-43) Each of the
questions below consists of a question

37.

(2} 46
(4) 13

(2111
{41V

-and two statements numbered [ and 11

given below it. You have to decide
whether the data provided in the state-
ments are sufficlent to answer the gues-
tion. Read hoth the statements and —

' Give answer [1) if the data in
Statemeni 1 alone are sufficient to an-,
swer the question, while the data in
Statement 11 alone are not sufficient to
answer the guestion.

Give answer (2) if the data in
Statement Il alone are sufficient to an-
swer the question, while the data in
Statemerit T alone are not sufficient to
answer the question.

Give anawer (3} if the data in
Statement I alone or in Statement II

alone are sufficient to answer the ques-

o,
Give answer (4) if the data in

both the Statemenis I and Il together

are not sufficient to answer the ques-
tion, _

Give answer (8) if the data in
both the Statements | and II together
are necessary Lo answer the question.

" 39. In which month of the year did

the construction of the building

begin ? -

I. The consiruciion engineer
correctly remembers that the
construction began before
September but after May and
that particular month did niot

" have 31 days.

1I. The builder correctly remer-

bers that the construction
began after February but be-
fore October and the fact that,
that particular month did not
have 31 days.

40. How many runs did Team X
“make ?

I. The urmpire of the match cor-

rectly mentions that had the

" batsman from team X scored

fwo maore 11izs, the team woiald

have won the match by 28

* M. ‘The coach correctly meéntions
that the batsman from Team
X missed his century by two

: runs. _ '
4). Who among P, Q, Rand S is the
shoriest ?
I. Sisnotastall as Rbutis tall-
erthan Q. -
: I1. Ris notthe tallest.
42, What does ‘ni' mean in the code
language ?
I. 'nipacalo means'an honest
bank employee’ and ‘sa lo ja pa’
means ‘employee of the bank'™.
II. ‘fi ni ca’ means ‘an honesi of-
ficer' and 'to fi sa pa’ means ‘re-
puted officer of bank’.
Is Jay a sibling {brother or sis-
ter]) of Rishi ? :

. I. Jay's mother, Shalini is the
only child of Rishi's grandfa-
ther.

II. Rishi's father has a daughter,
- Smita, of whom Jay is a breth-
€r. .
Directions {44-48) : In these
questions, relationship between differ-
ent elements is shown in ‘the state-
ments. The statements are followed by
conclusions :
Give answer (1} if only Conclu-
sion I is true.
Give answer (2] if only Conclu-
sion II is true.
Give answer (3) il either Conclu-
sion I or H is true.
Give answer (4} if nelther Con—
cdusion! nor(l istrue.
Give answer {8) if both Conclu-
sions I and I are true.
44, Statement :
P>R=8>Tx<V
Conclusions: 1. T<R
L R=T
45. Statement : '
R>5=T<U<V>Z
Conclusions: [. Z<T
o 5>V
46, Statemnent :
ZeTX<Z:Y>L L2
Conchusions : I. Y>1L.
ILY>X
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47.

48.

Statement :

A<B<C C=D<E
_cMcJusions:I.

B>E
MI.D=A
Statement : ;
H<d;F<cH:IgcJd=K
Conclusions: 1. H=>1
‘I I>F
Dimct.ions {49-53) : Read the

following information/stalement care-
fully and answer Lthe questions

49.

OE

Which of the following symbols
should replace the question mark
in the given expression in order
to make the expressions "M < K
aswell as L> P delinitely true ?
K>xL2M>N>P

{92} <

@< (4) =

- [5) Either < or <

In which of the following expres-

. sions will the ex'pressions ‘HzF

51.

(A<D

as well as ‘J > H' be definilely
true ?

(MF>G>HzI1=4d.
@DTF<GgH<I<J
BIF2G=Hxgl<d
MF=G>H>I=J

(5) None of these

Which of the following expres--

sions will be true if the given ex-
pression'A<C>B=D< E ls
definitely true?

@E=C

(3 D> C (4 E<B

() Nomne is true

In which of the following expres-
sions will the expression 'L > P

- be definitely false ?

(JL>M=>=N=P
2)P=NzL>M
(B)P<M<N<L
ML>M=N>P

(5] All are false

Which of the following syrbols
should be placed in the hlank
spaces respectively (in the same
order from left {0 right) in order
{0 complete the diven expression
in such a manner that 'V > 2

def‘mit.e]y holds true ?
_w_X_
: [1]' <, €, = {2] - T
@)= << (4) > 2

foIlowing information carefully and an-

(5) None of these

Directions (54-58) : Read the

swer the questions which follow :

(i) A is mother of B

Aii} C is sister of A

fiii} D is father of C
{iv] B is son of E.

54. Which of the following staternents

are required to establish that E
is amale ?

{1} Only {iv}

(2) Both (i) and (iv)

(3) Both (i) and (iv)

(4) Both (i) and (i)
(5} Both (i) and {tii)

. How is D related to E ?
-(1) Father

(2} Grandfather
(3) Son-in-law
{4} Grandson

{5) Father-in-law

Directions (56-80) : In each of

the following questions, two rows of .
numbers are given, The resultant num-
ber in each row is o be worked out -
separately based on the following riles
-and the guestion below the rows of
numbers are to be answered. The op-
eration of numbers progress {rom left

toright,

Rules :

@ If an odd number is followed
by a composite odd niamber (a
non prime number), they are {6
be multiplied.

(i} If an even number is followed

" by an odd mumber, which is not

a perfect sqguare, they are to be
added.

(i) If an even number is followed
by a number which is the per-
fect square, the éeven number is
to be subtracled from the per-
fect square.

{tv) If an odd number is followed
by a prime odd number, the first
number is to be divided b}r the
second number,

(v} If an odd number is followed
by an even number, the second
one is {o be subtracted from the
first one,

[After the operation ‘on the first

two numbers, the resultant is to be
considered as the number for apply-
Ing operation between the second num-
ber {the number obtained after perform-
ing operation between the first and
second numbers given in the guestion)
and the third number.]

For example : :
Consider the following question :
38 - 64 7

49 38 ‘a

If a is the resultani of the first
row, what is the resultant of the
second row?

(¥) 363 {3) 44
- (3) 22 4] 3
- {51 31

Here, after ﬁeﬂonmn g operaiion

" 'beiween the first two numnbers,

i.e. 38 and 64, the resultant ob-

. lained is 26. Now 26 is to be con:

sidered for performing the opera-
tion between 26 and 7 (the num-
ber given in the question). The
answer thus obtained here would
be 33. Now 33 is Lo be consid-
ered as ‘a’ and gperations are Lo

. be performed in the similar fash-

57.

ion between the numbers given
in the second row. The answer
obtained here after performing all
the operations would be 363, thus
(1) would be the correct answer.
12 21 6

L7} Yy R& :
If y is the resullant of the first
row, what is the resuitant of the
second row ?

(1) 125 (2j 25
{3y 47 (4} 27
(5143 -

6 9 15

x 12 11

If x is the resultant of the first
row, what is the resultant of the

~ second row ?

{1} 33 - [2) 45
(31 415
53

18 - 87 5

2 m G

If m is the resultant of the first
row, what is the resultant of the .
second row?

(1) 19 (2) 55
(3} 78 47
(B9 '

16 64 7

49 34 z

If z is the resultant of the firsi
row, what is the resultant of the
second row. ?

(1) 825 (2} 40
(3)3.67 (4} 70
{5} 58

27 12 3

P 9 5 .

If p is the resultant of the [first
row, what is the resultant of the
second row ? '

(1] 50
(3) 40

2) ¢
45

{51 8




Directions (61-75) : In each of the questions given below which onie of the | '
five answer figares on the right should come aiter the preblem figures en ‘Lht GUANTITATIVE APTITUDE
Teft, i the sequence were continued ?

Problemn Figures _ S Answer Figm-es

Directions (76-80} : What should
come in place of the question mark (2)

0A AQ Aﬂ ' O EO B.El 'ﬂa ﬂ& !'.’IO EA mt_he following questions ?
61_ . : .
7] P o | A A '3 A 0 2 10 116%0f450x‘?%0f880 3163
- i © @ @ B | WUs 2)2
§ 3ic v oA v[=E ¢l & Tl oo —Jo =g = (3) 15 (8
62 * 3 & o * A ) A ¢ (5) None of these
O Uj*x Bl 3% c¢cja Ol= wlg %x{*x alo ci*x a 77. 186 x ? + 14'= 1302
; ' (1) . (2 3 (4 {9 {1 98 {2} 92
B u A Fay d o] o] o
63 TV LwEdUmelrsaro] KCbEATIKABKRC LK< b {3}_88 ' (4) 84
R y N Y g n - f n B (5} None of these _
) (2] (3) (4) 15) 78, 1.8.4 x?x8=1840
B o= z[o O* O7F =|fy ofu ,u]o.-r-r o u nj (1 11.0 (21125 -
64 "OTITE Ak z TR U OO %R BT Ol =00 s=|A=00OTH (3) 14.5 (4 10.0°
’ Z =lo - |’ == TIO ] iﬂ_’** TV B [a ui= i [5] N{)neoflhcse .
- A {2 (3 4 D) ' -
csoo=L=osisaoaso D= ¢t Oaly A =log ¢lOOc ?9'332862:2264.+2548'56+?'-
65. P & L g =3 z Fd Q 2 o ' . ; e
. = L oo ssaocic =Gill e = 5 4 O=0 3o 0 Clj= 4 5l=,g,s '[1} 1959'4,.6_ {2} 1546.95
I @ @ 4 &) - 13)1946.56 | {4) 1569.45
| . | . e % R {5} None of these
- o > Qe g | #——0; ' S :
o i F | X %] T || e Kot o e
- ST S N = ) DL N A (2) 11
Aasihtalan to aklkoa irf**s::}-..*—:p*n[a*ﬂot-‘fi (3) 7 (4) 13
87. & = A ™ ¥ - R S >
0C ks Oolos Ot @3fs 20| le s Fjos 22 8 2 as s A (5] None of these :
0 @ B @ G ; Directions (81-85) : What ap-
B Z a5 _us & oV Uk v el U kzla e Mz k U4 w U3 *_61 | proximate value should come in place
- R e R A A | D“ i V.ﬂ .2 | | ofthe question mark {7} in the follow-
sUv olvk oik z ofz o eln¥s o 117 o%u 5 ola% o[a s cioz o | ingquestions? {Nete : you arc not ex-
- : | pected to calculate the exact value.)
R £ O - I (4) El
z] © = s [ i !E e % = | 81 18.505% of 550.010 = ?
6o, = | : D f . (1} 135 283
' E {3} 100~  {4) 120
(5} 90 -
: 82, 969.69 + 996.96 + 266.66 = ?
70. | (1) 2560 (2) 2870
! (3) 2630 {4) 2390
{5) 2900
7. 83. J1599 =2
| (yao {245
i {335 {4 30
72. . &80
B4. 24996 x 13.005 x 17.080 = 7
_ AV (1} 6225 (2} 5525
7y, | N A VAUIAV] A v u v n A (3} 5405 . (4) 5875
' A U N i A U v n (5} 6025 _
_ LR I VT S N B ) 85. £500.999 + 420.002 x 14,996 =2
. ' . i " (1) 250 - 12} 325
LINDIEB BEDNCIARECNIBACKD| |SBACNISBAQN|ARONS{SEANOISABUN :
74 |° HONPEDRC [ g @25 (41300
M @ B @ 5 - (B350 :
DO OAOOS & GIAA AC &2 A0 ©C Ao 0 Al 0 ©OJ0 & &[G O & Directions {86-90) : In the fol-
75, |PRICEIECARPIPECARIRASEPIPRASE| |[ESDRP|EPRAS[ESDRP|EPRAS|EBARP| | lowing number series only one num-
A A AAAL OAC O0 OO0 0 A |OA LGS A[AA AL D GO & & berswrmgf"mdautihewmgﬂum—-

m @ & @ O |ber
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86. 5 348 564 689 716 780 788

{1) 716 {2) 788
(3} 348 [4) 689
51780 -
87. 4444 2224 1114 556 2815
142.75 73.375
(1) 2224 2] 281.5
(31114 {4) 556
(5) 142.75
B8. 4.5 16 25 33 38.5 42 43.5
(1) 33 (2} 38.5
3 42 (4) 435
{5) 25
89. 6 49 305 1545 6196 18603
- 37218
1) 6196 (2) 49
{3) 305 {4) 1545
{5} 18503 '
90. 8 5 6.5 11 26 68 2075
" (1) 68 (2] 6.5 -
@11 [4) 26
{5y 207.5 -
91. 2 men can complete a plece of

work in 6 days. 2 women can
complete 1he same piece of work
in 9 days, whereas 3 children can
- complete the same picce of work
~in 8 days. 3 women and 4 chil-
. dren worked together for 1 day,
If only mén were to finish the
remaining work in 1 day, how
many lotal men would be re-

quirer] ?

{1} 4 (2; 8
@6 '

(4) Cannol be determined

(5) None of these
. What will be the approxtmate dif-
ference in the simple and com-
pound inierest acerued on an
“amount of T 2600 ai the rate of
15 p.c. p.a. at the end of three

yeais 7

{1 ¥ 167 AT 194
(3} T 202 @ T172
(0} T 184

93. A 320 metre long train crosses a
platiorm thrice its length in 40
seconds. What is the speed of the.

A committee of five members is
to be formed out of 4 students, 3teach-
ers and 2 sports coaches. In how many
ways can the commitiee be formed if -

94. the Committee should consist of

2 students, 2 teachers and 1

i | spotts coach ?
{1} 25 (2) 64
(39 4} 36

{5) None of these

any five people ¢an be selected ?
(1} 126 {2) 45

(3) 120 (4)24

(5) None of these

‘In how many different ways can
the letters of the word ‘LEASE’
be arranged ?

(1) 240 (2)120
(3) 25 (4) 60
(6) None of these

97. The digit in the unit’s place of a
three digit number is thrice the
digit in the {en’s place and the

" digit in the hundred's place is
tvu-third of the digit in the ten’s

its of the number is 14, what is
the three digit number ?

- (1) 932 (2) 239
[3) 326
{4} Cannot be determined
(5} None of these

. The ratio of the present ages of
Meena and Fiona is 16: 13 re-
spectively. Four years ago the
respectlive ratio of their ages was
14 : 11. What witl be Fiona's age
four years fromnow ? ©

(1) 28 years  (2) 32 years
{3) 26 years  (4) 36 years
{B) Norne of these

areund - a circular field is
T 7, 700 at the rate of T 14 per

-cular fleld ?
{1) 24062.5 sq.it.
(2) 23864.4 sq.ft.
(3} 24644.5 sq.ft.

train in km/hour ?-
{1} 120.8 (2} 115.2
(3) 108.4

[4) Cannot be determined
" {5) None of these
Drections (94-95) : Study the
following information carefully to an-
swer the questions that foilow :

(4) Cannot be determined

(5) None of these

Gina invests ¥ 48,000 to start a
business. Four months later
Shrayon joing her by invesung ¥
62,000 and another two months
later Deepika joins them both by
investing ¥ 80,000. At the end of

100

place. If the sum of the {hree dig-

99. The cost of building a fence .

Percentl Profil

foot. What is the area of the cir- |

.. one year the buemess mms a’
_profit of § 20,681, What iz Deep-

- Jka’s share in the profit 2.
{1} T 7,668 (2] T 6.603 )
31T 7.240 (4T 6300

(5) None of these
Directions (101-108) : Study the

following graph carcfully to answer lhc R

questlons
Percent Profit Eamed by Two
- Companies Over the Years
Per ceni profit

_ (In{?ﬂme_; Expenditure} x 100
h © Expenditire

—o— (Company A

65

—C&— Company B
60
55

3 /;,/;}%
454-—

e

357~ S

301

25

———

Y T T 1 T LA
2005 2006 2067 2008 2008 201D
Year

101, In the income of company A in
the year 2006 was T'6.425 la-
khs, what was its expenditure in
that year ? '

(1) T 4.7 lakhs
-{2) ¥ 5.2 lakhs
{3) ¥ 4.5 lakhs
{4) 7 3.8 lakhs
~ [5)'None of these-

102,
in the year 2005 was ¥ 3.6 Ia-
khs, what was the armount of

{1} ¥2.52 lakhs
(2] ¥ 2.46 lakhs -
" (4)F 1.44 lakhs
(4) ¥ 1.31 fakhs
{B) Nome of these )
103. What is the approximate aver-
" age percenl profit earned by com-
pany A over all the years togeth-

er?
(1) 57 - .(2) 36
{3) 41 {4} 23

R 4R

1f the expenditure of company A

profit earned by it in that year ?

-




104. Il in the year 2009 incomes of
boih the companies A and B were
the samiz, what was the respec:
tive ratio of thelr expendituires i

thatyear ?

M7:5

(2) 16 :15

(32321

{4) Cannot be determined

{8} None of these

What is the percentage increase

in percent profit of company B in

the year 2008 from the previous
year ? (rounded off to two digits

105.

after decimal} -
(1 17.65 [2) 19.25
{3) 16.55 (4) 15.75

(5) None of these

Directions {106-108) : In the
following questions three squares A, B
and € are given which contain four fig-
ures/numbers related to each other,
The figures/numbers in the first two
squares are given as examples and bear
a certain relationship to each other
within the square. This relationship can

be established/calculated vertically,.

horizontally or diagonally. Depending on
this relatioriship between the figures/

numbers in the first two squares, find.

out what should come in place of the
question mark in the third square - C.

33772] [165|565] {7 [13
106. g9i52| (765|365 (33|-7
A B C
(1) 27 @-13
{3} 6 @1
{8} -27 '
F9T540] [ 5 1300} [2.4]144]
106. 571s0] [25[100] [12] 7
A ‘B C
{1} 48 [2) 36
{3124 {4) 52
3) 64
81121 [2T78 ] [25] 7
107. "48124] [32]18] [20]10
CA B . C
{na 25
(3}5.5 (4) 6.5
5o

109. Mehul's mmonthly salary is one and
a half times Shailesh’s monthly
salary. Prashant’s monthly sala-

- 1y is five-fourth of Mehut's month-
ly salary. if the total of the month-

Iy salaries of all thz three is
T 1.82 750, what is Frazhant's
monthly salary 7
{1 F 42,000 i T 63, 500

A3 T 7E7I (4) T 63,000

{5} None of these

On the annual day, sweets were

to be distributed cqually amongst

110,

600 children of the school. But |

on that particular day, 120 chil-
dren remained absent. Thus,
each child gol 2 exira sweets.
How many sweets was each child

originally supposed to get ?
(1} 8 . {2)_ 14
{3110 @6 -

i5) Nonc of these
Directions (111-115): Study the

following table cuarciully to answer the

questions that follow :

Number of Employees Promoted to
the Post of Manager in Six Different

Banks Over the Years

Bank [ L |[MI!N |0 [P |Q

Year S

2005 481426524437 30
2006 5047 | 50| 3244 46
2007 4614050l 4238 35]
2008 3814813651135 39
2009 3244464548140
2010 5239147 41(46(43

111. What is the average nurmber of
employees promoted by Bank O
over all Lhe years logether ?-

(1) 44 {(2) 39.5
{31 35 {4425
(&) 46 '

112,
plovees who got promoted in all
the hanks together in the vear
2008 ?

{1} 234 {2)243
(3) 266 {4) 282
(5} None of these

118. What is the percent increase in-

' the number of employees promot -
ed by Bank Q in 2008 from the
previous year ? (rounded off to
two digits after decirnal)
(1} 16.23 " (2) 15.84
{31 17.95 (4) 18.68

- {9) None of these

114. Number of emplovees pmmoted

by Bank P in the year 2009

‘forms approximately what per-

cent of the total number of em-
ployees promoted by all the
banks together in that year ?

What is the total number of em- |

(1) 30 (2)9 .
(3) 14 @0
(5125

115. What is the vespeclive ratio of '
_ total number of employees pro-
moted by Bank M in the years
2006 and 2010 together to the

~ total number of employees pro-
moted by Bank L from the same

. years ?
(1) 41:63 " (2)43:51
(3) 47: 53 (4) 45 : 61

(3) None of these
Directions {118-120) ;: Study the
following grapii carefully to answer the
queslions that folow :
Number of Girls and Boys Partici-

~ pating in a Rally From Five Differ-

ent Schools

O Girls
W Boys

Number ol'(__“:-hila.lrf:n

Sc hool

116, What is the total number of giris
participaling in the rally from

schools A and C together 7.
(1) 825 {21875
(3) 950 - 4} 975

{5) None of these

The number of hoys partlmpat—
ing in the rally from school B is
what percent of the total number
of children participating in the
rally from that school ? (Round-
ed ofl to two digits after decimal.):
() 48.84 (2) 47.37

(3) 49.28 (4) 46.46

{5} None of these

117.

118,
in the rally from School E is ap-
proximately what percent of the
number of boys participating in
the rally from the same school ?

{1} 81 (2] 106
{3) 122 (4) 98
{5} 114

The number of girls participating




119. Whal is the respective ratto of to-
tal nuraher of girls participating
ir: the rally from schools Dand E
togethier to the total number of

(4}217: 20
{5} Nonw of thess -
Whui i the wverage number of

1240,
" girls participating in the rally

. :g:‘;ﬂpf;tf;%?ggtg;?égng Sh from ail the schools together 7
12318 1 500 . (2) 480
(2) 43 : 35 {3} 525 - {4) 495
{3} 41 - 38 (5} MNone of these .
Directions (121-128) : Study the following table carefully to answer the
questions thai follow :
Percentage of Marks Obtained by Six Stu&ents in Five Di.ﬁ‘erent Subjects
in A School Examination
Subject . English Maths Science Hindi Social Studies
Student (50) (100) (150) {50) (79)
P 66 89 80 78 84
a) 58 79 64 82 60
R G2 77 74 84 . a8
S 72 67 B4 74 68
T 70 &l .70 76 64
U 64 83 60 88 . 70
Note : Figures in brackets indicate maximum marks for each subject.

121. What is the approximate overall
percentage of marks obtained by
U in all the subjects together ?
{1) 75 {2) 71 '

{379 4] 82
(3) 87
If in order to pass the examina-
tiori a minimum of 109.% marks
are required in Science, how
many siudents pass in the exam-
Ination ?

{1} None (2) Two -

(3] One {4} Three "

(5) None of these

What are the average marks ob-
tained by all the students togelh-
erin Hindi ?

122,

123,

: 1
{1} 393 (2) 40—

5]

1 1

41= 44—

(2] 3 {4] 3
{5] None of these

What is the average percentage
of marks obtained by all the stu-
dents together in English ?
{rounded to the nearest integer)
(1} 61 - (2)63-

(3] 65 -{4) 68

(5) 59 '
What are the total marks obtained
by 5 in 4ll the subjecis together?
{1) 317 (2) 309

T {3Y 323 {4) 348

{5} None of these

124,

125,

ENGLISH LANGUAGE

Directions (126-135) : In the fol-

' lowing passage there are blanks, each-
i of which has been numbered. These

numbers are printed below the pas-
sage and against each, five words are
suggested. one of which fits the blank
appropriately. Find out the appropri-
ate word in each case.

People are as much attuned to fair-
ness as they are to individual self-in-
terest. Therefore, any institution regu-
lating human behaviour will have to
(126} that the compromises between
individual seil-interest, collective inter-
est and fairness are all within tolera-
ble limits. These trade-offs are as {127]
for larger institutions, including the
largest of them all, i.e., the state, as
they are for the smallest ones like the
family. {128} as. parents should not
repeatedly favour one child over an-
pther, the state cannot repeatedly
favour one community or class over
another. The [129) of falrness is Ip-
grained in our psyches. Since human
belngs often grab what they can, we
need institutions Lo ensure fair (130).
Of these institutions, the state is the
most imporiant, since it is. {131 to

| ensure that basic human needs are

ensured with minimal standards of fair-
ness. A state {132) of or uninterested

| in ensuring equity In security, educa-

tion, food, health and shelier is a staie

| whose legitimacy will be questioned.

Fuarther, the legitimacy of the state
isdependent on its belng saclosz to a
nefrol nmpire a8 pro -sibls. When the
state [183) partisan, its legitimacy can
be guesticaed. When the state sheds -
the umpire's clothes and becomes one
of the playérs, the rules of fair play
are so badly {134) that we can only
call such an event intolerable [135).

126. (1) demand {2) ensure
 [3)consider  {4) regulate
{5} encompass '

127. {1) important
(2) juvenile
(3} insignificant -
(4) supreme
(3) part _
128. (1) Presenily . (2] Same
3 S0 - {4} Like
{5) Just
129. {1} opinion (2} judgement
(3) end (4} drama
(3} conclusion .
130. {1} people {2} dissipations
(3} outcomes  {4) affects
{5} discouragermnents

131, (1) stimulated (2) calculated
{3) considered (4) hastened

{5) designed

132. (1} qualified (2) riddled
(3) powerful (4} incapable
(5) shortening:

133. (1) appears {2) aliow -
{3) become {4} recommends
(5) visualizes '

134. (1) twist {2} stopped
(3] mended (4) broken
() abated :

135. (1} truth (2) f[airmess

 [3)injustice {4} murder

(5) fortune 5

Directions {138-140) : Rear-
range the following five sentences (A),
(B). (C). (D) and (F) in the proper se-
quence to form a meaningful paragraplhy
then answer the questions given be-
low them. _

(A) For almost two months now, the
. struggle to cap the oil well and
protect lavge sections of the coun-
try's coastline from being devas-
tated has been the top story in
the news and the major concern.

of the US adrninistraticn. R

(B} At present, though, one finds lit-
tle expression of this in the dis-
cussions arsund the oil spill.
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) I these months it has beed real-
ized that this is an envirommien-
tal crisis of gigantic propettiors,
and is purely man-made.!’- ...

(B} il and water do nol mix’ as‘ﬂ‘r_é

Americans are being forded o -
accept with the tragic ofl Ep]ﬂ’-
_{rom a British Petroleum’ 011 ng :

i the Gulf of Mexico.
{E) Whether in the long-term this will
- compel Americans to think again.
about their depenidance on fossil
fuels and sericusly embark on the
path of scaling il down and en-

‘couraging alternatives remains to |

be seen .

136. Which of the foliowing should be
the FIRST sentence after rear-
rangement ?

{11 A (2B
(31C (4} D
(BIE

137. Which of the following should be 1
the FIFTH sentence after rear-
rangement ?

(BE 2)b
@c @B
5IA

138. Which of the followlng should be
the SECOND sentence after re- |-
arrangement ?

{(HE A2) D
@c 4B
oA

. 189. Which of the following should be
the THIRD sentence after rear-

- rangememnt 7
(LA {2} B
@c 4D
(BE

140. Which of the following shotild be
. the FOURTH sentence afler re-
‘srrangement ?

(A @B
3 C 4D
" {S}E

Directions (141- 145} :In each
of the following sentences, an idicmat-

lc expression or a proverb is highlight-
ed. Select the alternative which best
describes Its use in the sentence. If
none of the alternatives explains the
usage of the term adequately give

‘None of these’ as your answer.

141, "Raman is the best player that our
team has and in the big games
against the best players, he takes
no prisoners,”

(1} Raman is determined and does
nol care about other people's
opinlons while playing in the
big games against the best
“players.

| (2) In the blg. garnes agamst the

. 142,

" [3) The Government would be :

143,

- {4) Anuf's Immediate hoss as- a
signed Anuj another job after -

best players Raman physical-
Iy injures every player of the
other team.

{3) Raman is very cautious and
plans every move while play-
ing in the big games against
the best players.

(4) Raman employs unfair means
while playing in the big games
-against the best players.

{5) None of these

By revising the tax code, the Gov-

ernment would be opening a Pan-

dora's Box.

{1} The Governmenl would be
inviting {he public wrath on
revising the tax code.

(2) Along with the revision of the
{ax code the Government
would get several other un-
known benefits.

inviting a series of unforeseen
troubles by rems:ng the tax
code.

[4) Revisirig the tax code woulc_i

work to the advantage of the |

Guovernmment.

{5) None of these

Anuj had made a huge mistake

in the presentation about his com-

pany and thus his immediate
hoss took him to task.

(1} Anyj's immediate boss took
Anuj to his superior for an-
other assignment after he had
made a mistake in the presen-
tation. -

(2} Anuj's Immediate boss pa-
{ienily explained to Anurjthat
the mistake made by him in
the presentation was excus-
able,

(3) Anuj's immediate boss com:-

pletely ignored Anuj's mistake
in the presentation and ex-

plained to him other tasks

that were 1o he done.

he had made a mistake In his
presentation .
{3) None of these

144, Ritu Uried her best to convince .

the villagers to open a school for

the children; but it looked lLike

she was beating a dead horse.

{1) Ritu's effort of trying to con-
vince the villagers to open a

~ school for the children was
being perceived as a siate-
ment of anger.

{2} Ritu was trying harder than
was necessary to convince the
villagers to open a schooi lor
the childven,

(3 Ritw's effort of Lrymg to. con-
vince the villagers to open a
school for the chitdren did not
look like it would succeed.

(4) Ritu looked desperate while
trying to convince the villag-
ers to open a school for the
children. -

(%) None of these

' 145, Left to his own devices, Mahesh

would hire someone to do the dirty

work of washing dishes.

{1} Mahesh needed con&tant su-
pervision In order to wash the
dishes.

{2} If Mahesh were allowed to do
-as he wished, he would ap-
point someone t¢ wash the

 dishes,

(3] Mahesh would use a series of

.devices in order to appoint
someone to wash the dishes.

(4) Mahesh would hire someone

" to wash the dlshes m the
~ dishwasher. '

(5) None.of these

Directions {146-1580) : Each

question below has two blanks, each
blank indicating that something has
been-omitted. Choose the set of words
for each blank which best fits the mean-
ing of the senlence as a whole.

146. The actress’ ____{rom a chilled-
out girl off screen to an intense
actor on screen in just a few min-
utes.is émazing‘

(1) change, Improperly -

{2} revolution, just

{3) transformation, simply’

{4) agljustment, really

(3) renovation, truthfizllv




147. Considering the of the city
to chemical and industrial disas-
ters, the State disaster manage-

ament authority has decided to

conslitute an expert study group
to analyze all possible threats and
suggest to make the city
‘disaster-resillent’,
(1) vilnerability, measures
(2) propensity, sketches
(3) volatility. plans
4) regularity, preparations
[5) instability, maps
148. Despite the coliapse of efforts to
legislaie a climate bill, the coun-
try has international nego-
tiators it remains to re-
ducing carbon emissions aver the
next ten years.
{1) entrusied, obligated
(2} promised, averse
(3) declared, igriorant
(4) assured, committed
(5] pledged, attentive
by other singers and mu-
sicians, the singer sang his heart
out and even
newcomers during their act,
{1} Helped, smiled ~
{2) Accompanied, cheered .
{3} Created, judged
{4) Stopped, applauded
{5} Assisted, greeted
150. The health officials were told to
the medical praetitioners
about the treatment and iminedi-
ate medical to be given 1o
swine flu patients.
(1} irnform, assistance
{2) enlist, backing
{3) dissuade, aid.
(4) apprise, emergency
{B) encourage, help
Directions {1531-160} : Read
each sentence to find out whetlher there
" is any grammatical error or idiomatic
error int it. The error., if any, will be in
one part of the sentence. The number
‘of that part is the answer. If there is
no error, the answer is (3). (Ignore er-
rors of punctuation, if any.) -
161. The celebrations continued (1)/
" through the evening as more {2)/
and more {riends jdins (3}/ in the
" fun and frolic.(4)/ No error [5)
182. The actress belleves in (1}/ be-
ing fit and feels that there {2}/
are too much hype around size
zero (3)/ in the entertainment
world. {4}/ No error (5}

148,

the young

153, While the actress wins fans with
-~ (1}/ her on screen firewcrks, off
-screen, it's her (2)/ down-to-
earth attitude and easy-going
. manner {3}/ that wins her
friends. {4}/ No error {5)
Even though the exchange attract
(1)/ the attentlon of all those
present at (2)/ the police station,
the inspector continued (3)/ his
tirade against the girl. (4)/ No
error {3)
155. The market continues to be posi-

154.

tive (1)/ and in the next quarter. |

we expected (2)/ the trend to con-
tinue with {3)/ the onset of the
festive season. {4}/ No error (5).
156. The Indian team cannot win the
series {1)/ and even pulling off a
draw could (2)/ be a tough prop-
osition with {3}/ its lead bowlers
not playing. (4)/ No error [5)

157. With this initiative, the corpora-

tion {1)/ hopes to assure the pub-
lic that (2)/ it is confident of pro-

viding. good service (3)/ and re--

newing their faith with the pub-
" lic iransport system. {4)/ No er-
ror {5}, '

138. The games scheduled to be held
in the State {1)/ have been
plunged into crisis just iwo
anths prior the {2)/ opening
ceremony by allegations of cor-
‘ruption, (3)/ shoddy workman-
ship and delays in handing over
venues, {4)/ No error (5}

159, The sole idea behind (1)/ conduct-

young minds of our nation {4}/
No error (5} .

160. The reports prompted the chair-
‘man of (1)/ the organising corm-
miltee to address a hiuried press

conference (2)/ where he repri- -

manded the media {3}/ for con-
ducting a “prejudiced campaign.”
" {4}/ No error (5} _
Directions {(161-175} : Read the
following passage carefully and answer
the questions given below it. Certain
words/phrases have been printed in
bold to help you locate them while an-
swering some of the questions.
Indians are known for their ob-
sessive and compulsive fascination for
gold, India is the largest importer and
largest consunter of the yeilow mietal
as Indians buy about 25 percent of the

-wnﬂﬁ{-, gold in 2008, India imported

arounsd 400 tons of it, About 80 per-
cent of the worid's extractad gold is
fastiongd as jewellery. However, most -

0F s dor't know or don't think about

the environmental cost of the metal.

'For instance, extracting encugh gold

to forge a solitary, no-frills wedding
band ultimately translates into roughly

' 20-30 tons of waste. At some niines in

Nevada (USA), 100 tons or more of
earth have been excavated for a single -
ounce of gold. .

The waste is of two forms: re-
dundant rock, which is typically piled
as Nat heaps in locations near the min-
ing site¢ and the effluent or tailings
which are a result of chemical process-
ing of the mined ore. Sulphides in the
redundant rock react with oxygen,
making sulphuric acid which frees -
heavy metals like cyanide. cadmiufm,
lead and mercury harmful to people
even at miniscule concentrations. The
tailings component is typically a thick
slurry laced with cyanide. aluminym,
copper, lead, and mercury; enough to
decimate fish populations of water
environments it is disposed of into.
Disposal of wet tailings into water bod-
ics has been effectively banned in de-
veloped countries but i continues to

'be practised in most developing na-

tions. There is also a very real danger
of surface water and groundwater ta-
ble contamination on account of these
heavy metals. :

In fact, gold mmmg generaies
more waste per ounce than any other

.| metal and the effects are startling. Min-
- ing such programmes (2)/ s to
create awareness {3)/ among’

ing for gold has left huge gouges on

| the face of the earth, so massive 1hat

they can be seen from space.

. Acrcording to a siudy, respiratory
ailiments, soil and water contamination,
thick blankets of dust, withering of .
coconut trees and chariges in land pat-
tern use are some of the common fea-
tures of the urban area around a par-
ticular gold mine in Karnataka. Many -
areas are reported te have become in-
ferlile because of soil contamination.
They contain a percentage of heavy
metals encugh to retard plant growth.

Simijlarly, according to another

-report in 2008, nearly seven years afl-

ter the closure of these mines, the peo-
ple of this region continnue to face seri-.

ous environrpent and health problems,
particularly in July and August, due to

~winds in these months that carry with

themn cyanide particles from the dust
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piles in the abandoned: iﬁjnﬁs When
the mines were operalis ml & layer of
red soil used to be put over these dnst
piles hefore these cracial months to
prevent the cyanide particles from be-
ing carried away by the hezvy winds.
Now that the mines have béen civsed,.

the mitigative measures have ceased

as weil. ) _
-Peonle from socially and econom-
ically marginalized commuinities vt
mihing to escape acute poverty, vinerm-
ployment, and landlessness. In scme
cases, their homes and {farms may be
‘agquired’ for large-scaie gold mining.
While compensation is promised to
themn, it may take a year of two to kick
in. Till then, forced to eke out a bare
livelihood mostly in a kind of lottery
syster, they resort to crude methods
10 separate any flecks of gold that may
be there in the discarded waste rock
using mercury. In the profess, dektray
themselves siowly a8 well as their en-
virontnént. The sharity towns hich
inevitably come up around the iarge-
- stale mining sites only serve to add to
the problem. Given their illegal and
therefore unrecognized nature, they

tack basic amenitie! like garbage dis- |

-posal and water supply and sanitation,
hecomning another unsighily blot on the
lar-d%ape

Aceording to the World Gold

‘Counti], while estimates of nurbers |

engaged in artisanal mining vary wide-
ly. they range between 13 and 20 mil-

lion men, women avid childrén fromover

50 develeping countries. Indeed, it is
beteved that as much as a quatter of
the world's gold is supplied by artisan-
al miners. Their efforts to earn them-
. selves a daily wage have resuited in
huge habitat loss and destruction. For
exatnple, huge patches of land; once
home to lush trees in the island of
Barneo in Indonesia. are being swiftly

rendered treeless and lifeless pils of

waste, Incidéntally, the Isiand is high-

ly famed for IS rich biodiversity. Com- }

bined with heavy pressures from the

Togging lobby and need for cheap pow-

er through hydi oclectricity and relent-

less minin g activity, it is hardto imag-

ine if Boraeo will mandge to reiain its
Crown. S

Why shoudd these Facts about gold

mining bother us? After all, we just

impon. the metal; we do not mine it

lere 10 the extent déther countries do.

- That's altiout to chiange though. New

Delhi has big plans to fuel growth inn |

the mining sector and is iooking to open

investment jn gotd mining i the coun-

try - and in a big way.

Howaver, Ihdia's environmental
track record in mining has been any-
thing but stellar. And this is something
that requires close aftention in light of
the plammed increased forays into gold
mining. Even with the comparatively
miruscule amounts of gold mining

doné 3o far, we have tripped.up on |-

enmfss:mﬂpfaiconsidemuors Ceolog-
ically. Indid’s terrais is very simifar to
those in other parts of the world where

there have been huge gold finds. What

we rieed 1o do is to leamn fror the mis-
takes comvhitted by certain developed
couniries in their own backyard. We
have a wholé Series of examples of
where things have gone wrong from
other developing countries. We need
o use these insights 1o our advantag_e.
and quickly.

161. According to the author, how are

gold mines detrimental to the’

environment as well as public
health éven after their closure ?
. {1} The layer of red soil used to
cover dust piles in these
mines seeps intothe ground-
waler, thereby making it un-
fit for consumption .
© {2} The mines wezaken land nzass
and increase the chances of
ccowrrence of earthquakes,
especially after there is no one
locking after them
(3 The mitigative me'asure‘s
adopled after the closure of
1hese mines are not super-
visedt adeguaiely hence are

highty damaging

{4} The unsupervised mines now -

bérsme a Lhreat to the envi-
‘ronment as inexperienced
people ‘earty out unchecked
- nining aciivities
{5) Winds in specific ménths car-
ry harmfiil heavy metal parti-
des from the dust heaps ac-
curmitiated ini these miines
Which of the following is possi-
bly the most appropriate title for
the passage ?
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(1} Gola Mining and India - The ;

Inseparable Duo

{2} Artisanal Mining and its Ef-
fects

{2) Gold Mining Activities in Asia

(4) Gotd -- The Most Expensive
Metal in the World

(5) Lure for Gold - The Stark Re-
ality

163. Which of the following is/are ill
éffects of gold mining as mon-
tioned in the passage ?.

(A) Waste generaied while mining
for gold is harmful even in
small quanlities. '

(B} Groundwater gets pollitted

- duc to the release of heavy

metals generated from the
mining of gold.

{C) Geld mining activiries canse

‘respiratory ilinesses in pro-
ple,

(1) Only (A}

{2) All (A), (B) and (C)

(3} Only {B} and {C)

@) Only (B)

(5] Only {A) and B

Whal is the author's intention

Behind writing this passage ?

{1) To discourage the Indian gov-
ernment from investing m
gold mining

{2) To bring forward the probleris .
associaled with gold mining
for India's benefit

{3) To discourage Tidians from
buving gold based on its re-
yercussions

(4) To advocate the 1mport of gald

_ instea# of mining for it _

{5} To goad the Indian govern-

" mient injo bringing the artisa-
nai workers under the pur-
view of the organized seclorn

Whick of the following is trie

ahou? the people who carty oul

gold mining activilies ?

{Ag Their employment is purely

 legat in pature.

(B) They employ unsophisticaied
meihods of miining.

(C) They do not have essential
amenities.

(1) Only (B)

(2) Only (A) and (B)

(3) Only {C) .

{4) Only {B) and (C)

(5) Ali (A}, (B} and (C) are true

Which of the following is NOT

TRUE about the island of Borneo

" In Indonesia. as given in the pas-

- sage?

‘[A) Large pieces of land are be-
ing destroyed because of min-
_ing, '

{B) There is a large amount of
mining aclivity being carried
out on this island.

{C) It would be known for its rich-

164,

165,

166

biodiversity in the future,




167.

168.

{1} Only (A) and (B)

{2} Only (B}

@Bony )

{4) Only {B} and (C)

{5) All (A). {B) and (C} are true

Why, according to the author,

should lndia worry about gold

mining and its effects ?

{1} As India Is planning to in-
crease its investment in gold
mining and is iooking to in-
crease activities in this sec-
tor in the near future

{2} As India has been extensively
carrying out gold mining in

the past and i{s environmen- -

tal record is not encouraging
{3} As a large number of people
in India are employed in this

unorganized sector which is '
deirimental to the country’s

economy

{4} As India's terrain is geologi-

cally unstable and is similar
1o other lands in _thf: world
where geld mining Is carried
out ' ) ’
(5} As India is committing the

same mistakes cormmitted:by -

other developed nations when
it comes to gold mining
Why. according to the author, is
the environmental cost of gold
very high ?
(1) As gold is the only metal which
generates harmful waste on
its excavation '

(2) As excavation of gold releases

the highest amount of polut-
ants into the air ascompared -

to any other metal

'(3) As gold excavation is a Very

tedious process and requires

usage of a number ol environ-

mentally destructive resourc-
es

(4) As the amount of gold recov-
ered in proportion to the land
excavated is negligible

(5) As the transformation of raw
gold into a piece of jewellery

is very expensive and is envi-
ronmentally harmful
Directions (169-172} : Choose

the word/group of words which -is

most similar in meaning to the word/ -

group of words printed in bold as used
in the passage.

180.

170.

171.

172.

FORGE )

(1) create (2) cousrierdeit
(3) fake (4} falsify -
(5) copy o
DECIMATE

() destroy - (2) divide ’
[Blaugment  (4) vacate
(5} equalize |
FASHIONED AS

(1) derived into (2) marketed as

(3 stylizedas {4) made into

(B) attractedto
FUEL

(1) fire (2] increase
(3} light - [4) energy
(5) petroleum

Directions (173-175) : Choose

the word/group of words which is
most oppostte in meaning to the word/
group of words printed int bold as used

in the passage.
173. MASSIVE
{1) meagre (2) tiny
(3} dim (4} inadequate
{5) gigantic :
174, CEASED
{1)released  (2) embarked :
{3 started = (4) ended
~ (B} measured '
‘175, INEVITABLY
{1) unexpectedty
{2} silently
{3) unavoidably
{4} forcefully (5] inescapably
GENERAL AWARENESS |

176. A consortium of commercial

177.

" banks has joined hands to (loat a

new company which wil! coltect

data related to frauds and secu-

rity risks. Which of the following
is the name of the comparny ?

(1} Loss Data Consortium
{2} Custorner Service Corporation

13} Bank net India Lid.

(4} Nu Tech Corporate Services
Lid.

(3} None of these

The Indian Government has in-
troduced a new Wholesale Price
Index (WPI) recently. The new
WP is based on which of the fol-
lowing years ?

{1} 2004-05 (2} 2005-06

{3} 2006-07 . {4} 2008-09

(9) None of these

178.

As "I;éri""'ﬂe\ﬁspaper repaorts the
Bank-of Japan, which is the Cén- -
tral Bank of the country, took
special- measures, first time
last six years, to contain the rise
int the value of Yen. Why did Ja-
pan had to take this special mea-
sure which surpnsed ma1y Coun-
l.r“u“-, 2

- {A} Japan was fearful that a ris-

_ing currency woilld damage its
export-led recovery plan.

-(B) It was cne of the measures

 taken by Japan {0 come out
. of its economic sethack it swd-
fered in the recent past,

:+ (C) Since the US Dollar has be-

(1) Only (A}

179,

cante a Weak Glohal Curren-
cy, Japan wants the Yen to
be recognized as the global
currency in place of the US
dollar.

{2) Only (B) :
(3) Only () {4) Omly (A) & (B}
(5] Only (B} & (C)

As per the newspaper reports the
growth of Money supply (M3] has
heen at a moderate level in July
2010 as compared to March
2010. Which of the following was/.
were the effect of this modera-

~lion on the banking business ?

180,

(A) Less people opted for Time
Deposits

(B} People withdrew their invest-
menis in Mutual Funds

(C} Banking loans became more
costly as banks were forced
toincrease the interest rates.

(1) Both {a) &(B)

(2) Only (B)

(3) Only (C)

(4) Only {A)

(5) All{A), (B). {C)

The Reserve Bank of India has

" set up a Working Group to re-

181,

view current operating procedure
of monetary policy including
‘LAF' . What is fullform of ‘LAF ?
(1) Liquid Assets & Funds

{2) Liabilities And Funds )

(3] Liabilities Adjustment Finance
{4} Liquidity And Finance

'(5) Liquidity Adjustment Facility

Which of the following organiza-
tions /agencies plays a major and
erucial role to moderate & con-
trol inflation in a country ?

_ {A) Central Bank of the counﬁry
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’B} Stoeck Markets of the sountry

© Planning Commissjon-of the

country . o
(1) Only (B}  (2) Oniy(a)
(3) Bath {A} & (B)

{4) Beth (B) & {C)
() M), B & )

Many tirmes we read about ‘Bal- |

ance of Pajment’ in ecoriorric lit-

eraiure, Which of the following

statement(s] define the term cor-

recily ? :

A I is a vecord ol all transac-
lions made betweern one par-
ticular country and all other
countries.

{B) Ii is a record of all transac-

~ tions made between the coun-

tries wherein the payment
was made in a currency ofh-
er than US Dollar.

* (C) It is a record.of all exporis/

183,

184.

185,

) (3) Oaly (B}
{5} Only (B) & {C}

imports irom/by a country
and difference in amournt of
both in terms of payment in
‘US doliars.
() Only(A)  (2) Only(C)

(4) Bot (4) & (B)

As per the existing policy the

.Cash Reserve Ratio (CRR} of
scheduled banks is fixed at' a

oortain percentage of their NDTL.
What s full form of NDTL ?

bilities

[‘}.‘,] Net Demand & Time Lighili-
© tles

{3) National Deposiis & Totat Li-
quidity - _

1l Net Duration & Total Liquidi-
ty .

(5] New Deposits and Term Li-
guidity

Which of the following countries

-borrowed maximum amount of

foan rom the Worlid Bank in last
fiscal year?
{(Uindia  {2)Turkey

(3 Nepal (4} Pakistan

(5! Noie of these '

Ti:e Resere Bank of Indla recent-

~ ly decided to review its monetary

rolicy nuore frequently. This mea-
sure of the RB! will be called RBI's

{&) Monetary Measure

“{B) Financial Market Measure

{C) Regulatory Measure

'[i) New Demand & Tenure Lia-

(1) Only (A}
(2} Only (8)
(3) Alt (&), (B} & (C)
(4) Both (A) & (B)

. (5) Only (C)

186,

187.

(1) Only (&)

188,

189

“Basel Committee on Banking

Supervision” is also/or popularlv

known as —

{1} Thomas Cook Committee

{2) Talwar Committoe

(3} Bank for Intemational Seitle-
ments Committee

{4} Peter Cook Commiitee

{3) Banking Regulation Cornmit-
tee .

Which of the following is/are the

abjectives of the Public Distribu-

tion system 7

A} To put an indirect check on

the open market prices of var-
ious items.

(B) Providing food grains ad oth- |

er essential items to the vul-

nerable section of the society. |

{C) To provide competitive price
of the producis to farmers.

(2} Only {B)

(3) Only () & (B)

(4) Only (B} & (C}

(BY Al (A), (BY & (C} -

Which of the following missions
is given the name 'Operation New

Dawn'? .

(1) War in Iraq .

{2) Leunch of Space MISSIOII by
Tnckia

(3] Announcerment of new rehef
package for farmers

{4} New rehabilitation .operation '

for Neod victims in Pakistan

A9} None of these

Which of the following countries
won maxdmurn Goid Medals in the

recently concluded Common- -

wealth Games in New Delhi ?
(3) India (2} Australia
{3) England 4 Canada

(8] None of these

180.

Which of the following is/are the

“highlights of the Foreign Trade

Policy 2009-14, which was re-
viewed by ihe Government re-
cently 2 -

{A) Government to increase cx-
ports upto US § 200 biltion
this fiscal year, -

{B) Lisl of ltems allowed for duty-
free imports redueed by 30%.

191.

[€) Few towns jike Barmer, Bhi-
wandi and Agra were declared
- towns of Export Exceilence..
(1) Only {A) - '
{2} Only (B)
{3} Only (C] _
{4} Omly (BY & {C)

15) Only (A} & (C)

The Direct Tax Code which : was
revised recenily will be imple-

" mented from which of the follow-

1926

ing dates ?
(1 April 2011
(2) April 2013

(%) January 2011

(4) January 2012
(5) None of these .
Sri Harishankar Brahma's name .

‘was in news recently as hie has

- taken aver as the —

{1} New Chief Justice of India

{2} New Chief Juslice of Jhark-
hand, High Court

{3} Governor of Arunachal
Pradesh

. {4) Election Commissioner of In-

193.

" Uptili now which of the
“countries was the single biggest

| 194.

dia
{5) None of these

As per newspaper reports Aus-

tralia and Canada have become
new exporters of pulses to India.
following

exporter of pulges to (ndia ?

(1) Myanmar  (2) Pakistan
~[3) Nepal ) Bangladesh
- (D) Briiain '
Several countries in Europe

- abandoned their currencies and

‘the year 2001.

adopted a common currency in
‘That currency is
known'as —

{1) Eurcpa

(2} Gibralter Pound

(3] Dollar .

(4) Pound Sterling

" [B)Euwro

105.

Governmicnt may reduce its bud-

getary deficit by various mea-
sures. Which of the following is

NOT one such measwo ?

{1} Market borrowing

{2) Deficit financing

-(3) Foreign grants

(4} Increasing taxes
(B) Reducing taxes and increas-
ing subsidies
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197.

198.

199.

‘Commercial Papers’ are issued by
(1) a company loa bank

(%) Banks to Companies

{3) Banks to Banks

(4) Company 1o its suppllers

(5} None of these

Which of the following organiza-'-'
“tions maintalns buffer stock of

the food grain in India ? _
{1} Commission for Agricultural
Costs and Prices

{2) Central Warehousing Corpo-:

{3} Food Corporation of India
(4} Mandi Samitl of each State .
(5} None of thess

‘MAT" provision in Inéome Tax
stands for —

(1) Mecium Atternate Tax

(2} Maximum Alternate Tax - -

(3) Minimum Alternate Tax

{4) Mild Alternate Tax

'{5) None of these

Maximum FDI in Pvt sector Bank
in India is allowed upto—- -

{1) 26% (2) 49% .
(3) 50% {4) 74%
. (5] None of these

201.

. Many times we readaboutSWlFr :

In newspapers. What is its’ fu]l

form ?

{1} Sound World wide Instjluﬂon
for Transactions

(2} Safe Window In case of Finan-
clal Transaction

(3} Soclety for World wide Inter-
bank Financial Telecomununi-
cation

(4) Safe Window for Inter bank
Financial Transactlons -

{5} None of these

As per latest data in urban areas

women employment is highest in

which of the following industries

areas ? _ .

{1) Private hotiseholds

12} Textiles

(3} Apparel

(4} Education

. {5} Retail Trade"
. In the world of commedity Ex-

changes - the concept of "A sfan-
dard contract to buy or seil a

specified commodity at a certain
date in furure and at a market

driven price” - is known as =

(1} Future conlract
(2) Forward contract

(9 Market contract

(4} Standard contract
(5) None of these

If markel quotes USD/INR as, |
© 48.61/63, this means we can

buy USD at which of the {oflow-

ing rates at the given quote 7
(1) 1861 {2} 63.48
(3) 61.48 {4) 48.83

{5) None of these

. The foreign trade policy in India

is announced by the —
(1) Reserve Bank of India
{2) Ministry of Comeree
(3) FEDAL

{4) Ministry of Finance

- {8) None of these
. Lending to Self Help Groups

(SHGs} by Banks is known as —
{1) Non pricrity Sector

{2) Priority sector

{3) Commercial sector

{4) Corporate Sector

5] None of these

» According to Minisiry of Consimm-

er Affairs, which one of the fol-
lowing products had contributed
maximum to take the inflation at
highest level ?. '

(1} Vegetables [2} Jowar

(3} Atta (4) Cocomut oil
B} Milk

. In which one of the following

States, ONGC has set up a 102
mw capacily wind power

-project ?

(1} Gujarat
(2} Rajasthan
(3) West Bengal

" {4} Orissa

(5) Andhra Pradesh

Through which one of the follow-

ing source(s), Indian companies

are aliowed to access funds from

abroac?

(A) External Commercial Borraw-
ings (ECB) only

(B} Foreign Currency Convertible
Bonds (FCCBs)/Foreign Cur-
rency Exchangeable Bonds
only

{C) Preference Shares only,

(1) Oniy (4)

(2) Only (B}

(3) All {A). (B) &(C)

. @) Only (A) & (C)
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A3k Only (C)
. ‘The: Nobel Prize 2010 for htera—

ture was given to -~

{1} Mario Vergas Llosa

(?) AkiraSuzuki

{3) Richard F, Heck

{4) Robert G. Edwards
(5] None of these

| 210. At which one of the following

States Ravva gas fields are locat-
ed ?

(1) West Bengal
-{2) Andhra Pradesh

{3) Kerala

{(4) Orissa {5) Kamataka

| 211. Who amongst the foliowing is the
+ " author of the bock “Building So-

cial Business”, published recent-

? '

(1} LiuXiaoho (2) Amartya Sen

{3} Bertil Ohlin

(4] Manmohan Singh

(5] Muharmnad Yunus

‘While tackling the problem of in-

Naticn, which one of the follow-

ing aspecis is taken into consid-

eration by the RBI?

{1) Balance between budget def-
{cit and price stability

" {2} Balance belween growth and

financial stahility

{3} Balance belween price of all
esseriial commodities

(4) Balance belween growlh,
price stability and finrancial
etability

(5) Mone of these

213. Which of the following is/are a/

214.

an indicalor of the financial
health of a.couniry ?

(A} GDP (B} PPP

) FDIin a vear

(1) Only(A)

(3} Only (€)

(4) Al {A), (B) & (C)

(5) None of these

Stock Exchanges' play a role in

un economy which may be tenned

g -—

(%) hardly useful

(2) useful but need strict regula-
tion

{3) harmful to proper capital maAar-
kets

{4) a gambling - where many in-
vestors get mined

{5) a very important segment to
regulate inflation '

(?) Only (B}
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217.
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Which of the follewing is/are

calted Key Policyiratés by the
‘Reserve Bank of India ?

(A) Bank rate _

(8} CRR D RES R

(C) SLR o
(1} Only (A} SR
(2} Only (B) T
(3} Only (B) & (C} =

{4} Only (A} & (B) s
(5) All (A), (B) & [C)

“World Post Office Day’ is cele-

brated on

(1) November 19

2} October 10

{3} November 9

{4) Oclober 9

{5) None of these

Mr. Li Muing-Buck who had come
to India on an official visit, is the
president of '
(1} South Korea

(2} China

(3) Myanmar

{4) Vieinam

{5) None of these

Which of the following lerms is
associated with Hockey?

{1) Checkmate "

{2} Ashes

{3} Double faitll
{4) Lav

_ (5} Centre forward )

2309,
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Which of the following -was
awarded with ‘Rajiv Gandhi Na-
lional Sadhana award to spread
communal harmony and peace?

{1) Murali Manohar Joshi

{2) Arundhati Roy

[3) Medha Patekar

{4) Maulana Vihuddin Khan

{B) None of these

What is the name of programme
Jaunched by the government of
India with a view Lo provide so-
cial security to the people work-
ing in unorganised sectors?

(1} Rajlakshmi '

2) Kuteer Jyoti

(3) Arunoday

{4) Svavalamban

(39 Mone of these

Which of the following prizes/

avwards/honours is given for ex-
cellence in films?

223.

(1) Shantiswarbop Bhatnagar
Prize-

(2} Kalidas Award

(3]} Dronacharya Prize

(4) Arjuna Award

{5) Dadasaheb Phalke Award

The plenary meeting of United

Nationas General Assembly on’
millennium Development Goals

was recerntly held in

(1} Tokyo (2} Jakarta

(3] New York

{4) New Delhi

(3) Paris

According to the Newspaper re-

ports, India's neighbour China

has helped _  in installing a
nuclear power plant.

{}) Pakistan {2) Bhutan

(3) Nepal

4) Alghanistan

(5} Myanrmar

AFSPA was recently in news. It

stands for

(1} Armed Forces Super Powers

T Act

{2] Association of Financlal Super -
Powers in Asia -

{3) Armed Forces Special Powers
Act

(4} Association of Forces & Su-

per Powers in Asia

- [8) None of these -
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Which of the following did not

participate in the Comonwealth-

Games recently held in Deihi ?

-[1} Saina Nehwal
“{2) Dola Banerxjee

3) Gagan Narang
{4) Abhinav Bindra
5) Sharal](arnal




